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BIREEENCEED) 0 0.01 0 0.01
EENEEREDN, 0 0.01 0 0.00
eSS 1 0.18 i 017
SIEO S 2 0 0.00 0 0.00
SR, EAE 0 0.08 i 0.09
UHEH EAERBE S 1 0.19 2 0.22

e PP : :

= =5 > 027 3 0.32
EESTE > 0.33 3 032
T2 2 AL 2 0.16 4 0.16
TR 5 0.38 10 037
T ATS 2 5] AL (M EFT A 0 0.01 0 0.01
EENEERE 0 0.01 0 0.00
ST 7 0.55 17 055
JIEHS 2 0 0.00 0 0.00
SR, ERAE 1 0.08 > 0.09

B IV
H i A 2 0.18 6 0.02
= =5 3 0.6 8 032
EESTE 4 0.31 8 0.32
T2 B A 18 0.16 K 0.16
I OHGI AF 38 0.34 24 0.34
EE R ECEE)) 1 0.01 1 0.01
ENEEREN i 0.01 0 0.00
RS 57 052 36 051
SIEH S 2 0 0.00 0 0.00
SO0, S 9 0.08 5 0.09

B B SEPEE
= A L 21 0.19 15 0.21
T & 30 0.27 21 0.30
EETS TR 36 0.32 22 0.31
NEETN 4 0.16 5 0.16
D 8 0.30 11 0.30
AL 2 5] A (A ETT D 0 0.01 0 0.01
ENEERE 0 0.01 0 0.00
ST E 0.48 17 0.47
JIEHS 2 0 0.00 0 0.00
S=0H0H, S22 2 0.08 3 0.09

L B IV=P
H AN 5 0.19 8 0.22
= =5 7 0207 E 0.31
EETS TR 8 0.32 B 0.32
T2 B A i 0.16 2 0.16
TIOHGI AF 1 0.25 3 0.25
T C AT 2 5] AL (A ETT AT 0 0.01 0 0.01
ENEEREDN 0 0.01 0 0.00
eSS 2 0.43 5 0.42
SIEdE 2 0 0.00 0 0.00
CEONOE, B 0 0.08 i 0.12

””5” TAEAOS =
X b s 1 0.19 3 0.07
= =5 1 0.07 ) 0.39
EETS TR > 0.30 4 0.34




NEEN 6 0.16 7 0.16
EER 8 0.03 10 0.00
T C A 2 2 Bl A (A S 2 X 0 0.01 0 0.01
SENEERED 0 0.01 0 0.00
EESEY 14 0.40 17 0.40
Bol = TH(F=4A1)Ce IO & 2 0 0.00 0 0.00
SO0, Eeae 3 0.08 4 0.09
Wt T =EA=mge =
=9} i L 7 0.19 10 0.22
AA2 el
T =] 10 0.07 12 0.32
=AHNA K 0.33 12 0.32
EET > 0.16 3 0.16
EER 1 0.09 > 0.09
T C A S 2 B AL (A & 2 X 0 0.01 0 0.01
S ENCEREED 0 0.01 0 0.00
EESP] 4 0.26 5 0.26
Mol XH(FA)S JIErHl = D 0 0.00 0 0.00
SO0, Eeae 1 0.08 > 0.10
OK Of IANEHOD =
=) A Ao 3 0.19 5 0.23
AAD
T = 4 0.07 7 0.33
=A NN 5 0.32 7 0.32
EE 1 0.16 1 0.16
ER 0 0.06 0 0.06
T AT S 23 A (M E D 1) 0 0.01 0 0.01
SENEERED 0 0.01 0 0.00
EESEY 1 0.04 1 0.04
0l & T} (FA)S-P JIEIOI & 2 0 0.00 0 0.00
SO0, Ee e 0 0.08 0 0.09
O O IANENOD £ )
BN A~ as 1 0.19 1 0.2
T S| 1 0.27 2 0.32
=A A > 0.32 > 0.32
« MO =X AEM(D|2HE &) (hH] IS S LIEFLICH
ox JIEFHIR0I2 BIHZAHIE, S2 S| S & ZAHIS S HEAN ZAX BHENo2 NS USOZAN WH-EHL42= F

QUetd U LILEH

¥ AU Y s
WSS T gle
> S22+, HIZHIE CHo|: 01 8HAH %)
S| Z20xBe0=@A) ] R EN-==0=6) S 1A )
S —— 5] 0.0026 0.9839 0.9865
HYSR(FA)(ES =5 0.0026 10255 10281
2ol = (= ADAT =] 16046 0.9879 55905
MY STHFA =5 1609 1.0086 56176
- x =] 71545 0.9871 51476
HEEIHEFH)Ae =] 1.1577 1.0144 21721
- o =] 0.735 0.9357 16707
MBS FHIC-F =5 0.737 1.0974 1.8344
- o =] 1 5445 0.9876 75321
HEEIHEFA)C-PT =5 {5487 1.0231 25718
- o =] 13045 0.9895 2,004
HEEUHFH)C-P2 =5 1,308 1.0514 2.3504
- Y =] T 1047 0.9875 21102
HEEUHFH)C-Pel =5 11278 1.0653 21931
- = =] 1.0049 1.0079 2.0128
B L (FA)C-Pe2 =3 1.0077 1218 20057
- o =] 0.705 0.9966 1.7016
HEEHFHIC-W =3 0.707 0.978 1,685
ol e A ACH =] 2.0045 7.0205 3.005
ME SN FA =3l 20105 0.9604 3.1709
Fp——— =] 2.0547 0.9798 3.0345
ME SN FA =3l 2.0604 1.0007 3.0611
- x =] 1.9053 0.9689 58740
HEFIHFA)C3 =5 1.9105 1.064 2.9745
- = =] 1.704 0.9906 2.6946
HBEX(FAICA =3l 77088 12134 59000
- x =] 16045 0.9872 25017
HEFUHFA)Ce =Bl 1.6089 1.0381 2647




Bl TH(ZAS =Bl 1.0544 0.9791 2.0335
e T =Pl 1.0573 1.0335 2.0908
_ 0| 0.954 0.988 1,942
IHOl = Al —
HEEAHFA)S-P =Bl 0.9566 1.0254 1,082
=1) E24-HI2H|IS(Total Expense Ratio)0|2t 224 S HOWA SU5ts '24'91 'JIEHHIR SUS & XA TR (2 4.4
2 UM IF)0R U= Hisa M sy _gm FE EXXD 2EE & 24 -HI24FS UEHYLIC
F=2)OHON-SH422 HIS0I2 BHIH-EHLE42E NN CEIM(BA U8 U2F IF)C2 L HIE2H Y 28124 = €
XL 2SS OHO-SHe420 =2 CEreLICH
6. EXLXHAOHOHLH S
> OHH=AA2 2 S| HE (Ehsl: siokel, %)
TES e MEREE
= =on 2t =54 D)2t o St
4,125,658 108,374 3,967,837 88,7202 135.98 545 40
=) HOHBI M S0t Y 22012t = 1T 8t TADIHO SHS 1 oY 22J(2t S 298t A BRIIMOZ L+ HISYLICH
HOHBI RSB0l 2B N AHA222(0.1% Q) L SAHMAM(HEA 0.3%) LMO2 AR EXXI L5 €= BHEH KO0
Z=IFEILICY
> X2 3] =A HOHg &2 0| (E421: %)
2019-07-20 ~ 2019-10-19 2019-10-20 ~ 2020-01-19 2020-01-20 ~ 2020-04—19
119.57 132.67 135.08
7. XA EAIS] DS THA EXH0|| 28 ALE
> THAF S X0 28 ALE
(Sl 2, %)
HC S XHAIDI EXZ % (F) PCTE] HI D
Ol E TH(FA)CA 2017-02-23 100,000,000 | 24.54% HAGILIZS E A
& 100,000,000 - -
F1) 2AES 2II22L DN LY IIE
x2) HE EXHE C12UA, EXII2H 13 ZDAIDIC C2, C3, C42 X &
=Xl AHEL
Ol BEDAME RH2AIZO i DHOICHA HUET ZA EXAIEH(FA)(2E)0 KHASZ3| Al OFOICHA A XA Z 0] &4 504
HETHAHS 2B AHAIEI X1 QI BH2 M EI2SO| 51012 B0} SH20 S ZHS Sol EXNXH MBELICH CHoF Y2 o EtE BHEQ|
HETHAHS ZHE|AHAIEI QX)) BH010|2+2 U2 OIEHEl Y 0| | 2+0fl BHEHLICH.
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